EARAZROREIERT — 2 N—XBISY —F 2012515228 (H) 18@E1{x&E4H

KM C2—32# C2 #5%4mkE B R
[A&4£] 1% :100,000  ~ 2% :23,000 ™  33#%&:9,00M . 437%&:5000MH  53%&:3,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. BEmth 124, -1-1- . — IS (1£8)
lsls| KU—L7—H— o4 555.0 1(2_4)2 1-1-1-1 | 38.3 1 (5;4) paz 3
A:Eddington B:X h—3I— 1 H— [/ Eaes]
. 5| % FoHLTER > 5 gg%tl 1:(2:;1).8 3-3-3-2 |38.6| — 9 (4_5; ;*;E?EIE (E8)
RiZa—A2T95>F BHFI4 hF1> KTHUS
3 4 4 | BEA— 1:25.3 4-4-4-4 | 38.8| — 6 478 | KBEER (1£8)
3111 | XY~ A53.0 2 1/2) -2 | B ®5F53%
L:/=)=x> B:YF—Xb=1— -~
S 4 4 | EAER 1:25.4 2-2-2-3 [39.3| — 2 500 |WEHE (£H)
4177 Hho /) hAF7 56.0 (3/4) (1) AR
L:T7Ivhty b B4 X —XAFK ThEF IS
. . — 44 | REEC 1:25.9 7-5-7-6 | 39.0 | — 3 565 | LiFiERE (1£%)
EH 4 NIVECRIT > 56.0L (2 1/2) (-9) m%%ﬁ
R:To17145—714>7 BNILELFIX NIVEY R T7— L
. A i 4 | IS 1:26.0 5-6-6-5 |39.1| — 7 429 |WTEX (&)
6l8lg|RIbvT A51.0 (1/2) (1) |HEAE .
R:bh=F—Y7 b B:T7YVIXFx A %A
IIFaE . _7_a_. — IWTFE (E8)
7 3| TwUzs— 6 TR (11216/2?3 6-7-8-8 | 39.0 7 (4_314) b i
R:2&—F7aAV-> BTV ATV i RS
- A . g-5- _ HEAE (1£%)
slalg|3xETS> i o8 ;gs.o 1(.12;52.)4 9-8-5-7 | 39.5 4 zg? e
R:iZa—-4>95>F B:¥O7x =%
_ N HE A 16, —9-9- . — FHEEAEE (1£%)
9 6| FTLTITATIV o 54.0 1(,%3? 99 | B4 ° (4_217) A -
LY ISNIS - BIIZRLY—% EAKS
® I—F—@EBIERL
13—7F— 5,7,2,1,8,3,4,6,9
20—F— 5,7,2,1,4,8,3,9,6
T =35r= 5,7,2,1,9,8,4,3,6
41—F— 5,2,7,1,8,4,9,3,6
[ RN
B 5 150 794K 2-5 910M & 2-5 3,100 &R 1-2-5 7,990/
% B 5 100 15 7101 | | B E 2-5 3,190 | | 3EE 5-2-1 16,670
2 560/ 1-2 2,480 B H 5-2 2,430M
1 360

ABICOVWTRDTEEERROODE. TR LIV,




